S

amill s 32 Fpbll agle BSasly dol

¢ BIY @b aluall oSy A - 112040

Il
T938S cpail) &b alocall oSy A8 ¢ Bldoiaall (19388 5uall &5 Wlasd ¥ 155) 1 s g dilonas 401 o
dLoadl Gyl

oo b paall ey bl o3 sade sl baluny 19388 ppill dusd sy
0d &b eIl o8 ale oo Ul Lo 9335 agll

i Ligs e @0 Ugeay of (ol (19385 uil) &8) ima of Jazos

A &5 wliaballs faeball 1535 gl &)« Jlss

(sl Slie adls @gs Slie adls 19392

10/z 94!

S Saclilly 553l laoast Bl eusall oY dasan pupnall Jazid 4431
Sle gl Caloll 18 5331 laaast Bl 3 ime cdassl 13] &3 Gl yad]
LAl dosy ppagic o Aaome pndd] Ayind

(2/1106) "7 gaaall SUI il ela)”

171


https://m.islamqa.info/ar/answers/112040
https://m.islamqa.info/ar/answers/112040

